
Disjoint Set Code

Make-Set(x)

1 p[x]← x

2 rank [x]← 0

Union(x, y)

1 Link(Find-Set(x),Find-Set(y))

Link(x, y)

1 if rank [x] > rank [y]

2 then p[y]← x

3 else p[x]← y

4 if rank [x] = rank [y]

5 then rank [y]← rank [y] + 1

Find-Set(x)

1 if x 6= p[x]

2 then p[x]← Find-Set(p[x])

3 return p[x]



Ackerman’s Function

Ak(j) =


j + 1 if k = 0

A
(j+1)
k−1 (j) if k ≥ 1

α(n) = min{k : Ak(1) ≥ n}

A0(j) = j + 1

A1(j) = A
(j+1)
0 (j)

= 2j + 1

A2(j) = A
(j+1)
1 (j)

= 2(2(· · · (2j + 1) · · ·) + 1) + 1

= 2j+1(j + 1)− 1



Ackerman

A3(1) = A
(2)
2 (1)

= A2(A2(1))

= A2(7)

= 28 · 8− 1

= 211 − 1

= 2047

A4(1) = A
(2)
3 (1)

= A3(A3(1))

= A3(2047)

= A
(2048)
2 (2047)

� A2(2047)

= 22048 · 2048− 1

> 22048

= (24)512

= 16512

� 1080 ,


